
Operation Operations                                                                                           Day 1

Skills: Place value, Figures to words, Words to figures, Addition with regrouping, Subtraction, Ordering numbers and Recognizing 

shapes

1. What is the place value of 𝟑 in? 

a. 𝟕𝟒𝟑:   __________________   

b. 𝟒𝟓, 𝟑𝟎𝟕: ___________________ 

c. 𝟑, 𝟐𝟎𝟕: _____________________ 

d. 𝟑𝟓, 𝟐𝟏𝟒, 𝟎𝟎𝟔: __________________ 

 

2. Write down the place values of 𝟖 in?  

𝟐, 𝟖𝟕𝟑, 𝟏𝟔𝟒? ______________ 

3. What is the place value of 𝟔 in?  

a. 𝟔𝟎, 𝟎𝟎𝟑 __________________ 

b. 𝟔, 𝟏𝟒𝟖 ________________ 

c. 𝟖, 𝟏𝟑𝟔, 𝟒𝟒𝟑_____________ 

4. What is the place value of 𝟓 in?  

a. 𝟖𝟕, 𝟓𝟐𝟔 ____________   

b. 𝟕, 𝟖𝟓𝟕____________   

c. 𝟑𝟑𝟓 ____________   

d. 𝟐, 𝟓𝟎𝟑 ____________   

5.  Express 𝟗𝟓𝟔 in words 

_____________________________________________ 

 

 

 

6. Write four thousand eight hundred and seven in figures  

________________ 

7. Express four hundred and twenty-three thousand, six 

hundred and eighteen in words  

___________________________________________ 

8.  𝟑𝟐𝟗 + 𝟏𝟎𝟎𝟕 + 𝟏𝟕, 𝟗𝟖𝟎 

 

 

 

 

 

9. Arrange the following numbers from smallest to 

biggest 

𝟐𝟗     𝟔𝟐      𝟑𝟒𝟕      𝟏𝟑      𝟏𝟖𝟏      𝟖𝟏𝟏      𝟗𝟎 

_____________________________________ 
10.  Write the names of the shapes below 

 

 

 

_______________       _____________       _____________ 

 

 

 



Operation Operations                                                                                           Day 1 

Multiplication and Division: 0, 1, and 2 times 

 

 

 

 

 𝟑 𝟑   𝟏 𝟗 𝟓 
  𝟗 𝟑 𝟎 

  𝟐 𝟒 𝟎 𝟓 

× 𝟐  × 𝟐 
 × 𝟏 

 × 𝟎 

 
 

       

 

 

 

× 𝟐 𝟖 𝟓 𝟏𝟎 𝟔 𝟕 𝟏 𝟏𝟏 𝟑 𝟗 𝟒 𝟏𝟐 

𝟎             

𝟏             

𝟐             

𝟐 × 𝟖 = 𝟏𝟖 ÷ 𝟐 = 𝟔 × 𝟐 = 𝟏𝟐 × 𝟐 = 𝟐 × 𝟗 = 𝟐 ×      = 𝟏𝟔 
𝟐 × 𝟓 = 𝟐 × 𝟏 = 𝟑 × 𝟐 = 𝟎 × 𝟖 = 𝟏 × 𝟖 = 𝟐𝟐 ÷ 𝟐 = 

𝟐 × 𝟑 = 𝟎 × 𝟖 = 𝟏𝟏 × 𝟐 = 𝟐 ×     = 𝟐𝟒 𝟐 × 𝟒 = 𝟏𝟐 ÷ 𝟏 = 
𝟐 × 𝟕 = 𝟐 ×       = 𝟏𝟒 𝟐 × 𝟕 = 𝟔 × 𝟐 = 𝟐 × 𝟖 = 𝟏𝟖 ÷ 𝟐 = 

𝟏 × 𝟖 = 𝟖 × 𝟐 = 𝟐 × 𝟐 = 𝟐 × 𝟖 = 𝟐 × 𝟏𝟏 = 𝟖 ÷      = 𝟏 
𝟐 × 𝟖 = 𝟑 × 𝟐 = 𝟐 × 𝟗 = 𝟓 × 𝟐 = 𝟐 × 𝟏 = 𝟏𝟎 × 𝟐 = 


